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40% Au

1000°C

15% 72%

ML S

40  27 
=

15  04 
=

15  72
à   T=1000°C :

liqn SSn SSLiq n  n 

nLiq =  (72 - 40) . (nLiq + nSS) / (72-15)  =    0,561 . (nLiq + nSS) moles
Liquide (15% mol. Au)

nSS = (40 - 15) . (nLiq + nSS) / (72-15)  =    0,439 . (nLiq + nSS) moles 
SS (72%mol.  Au)
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40  27 
=

15  04 
=

15  72
à   T=1000°C :

liqn SSn SSLiq n  n 

nLiq =  (72 - 40) . (nLiq + nSS) / (72-15)  = 0,561 . (nLiq + nSS) moles
Liquide (15% mol. Au)

nSS = (40 - 15) . (nLiq + nSS) / (72-15)  = 0,439 . (nLiq + nSS) moles 
SS (72%mol.  Au)

ntot = (nLiq + nSS)    Correspond à un mélange de 
10 g  contenant 40%mol.  Au)

ntot =
10

M40%Au

=
10

0,40.MAu + 0,60.MAg

MAu = 196 ,     MAg =107,87       g/mol

= 0,07 moles
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mliq = nliq . Mliq

nliq = 0,561 . 0,O7 = 0,039 mole 
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ntot = (nLiq + nSS)    Correspond à un mélange de 
10 g  contenant 40%mol.  Au)

ntot =
10

M40%Au

=
10

0,40.MAu + 0,60.MAg

MAu = 196 ,     MAg =107,87       g/mol

= 0,07 moles
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mliq = nliq . Mliq

= nliq . (0,15.MAu + 0,85.MAg )

mSS = nSS . MSS 

nSS = 0,439 . 0,O7 = 0,031 mole 
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mliq = nliq . Mliq

= nliq . (0,15 . MAu + 0,85 . MAg )

mSS = nSS . MSS 

= nSS . (0,72 . MAu + 0,28. MAg )

Vérification:   mSS + mliq =    10 g
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